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| 3_Seat_Enquiry_panel:

Il_Initial_panel :/
—— Actions for Label

2_Flight_Enquiry_panel:

—— Actions for Label
3_Seat_Enquiry_-panel:

—— Actions for Label
4_Reservation_panel:

—— Actions for Label
5_Confirmation_panel:

—— Actions for Label
6_Final_panel:

—— Actions for Label

from
Display Seat Enquiry Panel

user’s answer for current panel
user’s choice |C| for next step

Process user’s answer

case |C| in
2: goto 2 Flight_Enquiry_panel
3: goto 4_Reservation_panel
end
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SRC STATE

¢ /(/{nitial)
2 (Flight Enquiry)
3 (Seat Enquiry)
4 (Reservation)
5 (Confirmation)
6 (Final)
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deferred class STATE
read

deferred end
answer: ANSWER
choice: INTEGER
display

deferred end
correct: BOOLEAN

deferred end
process

require correct

deferred end

message
require not correct
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executeJ

do
from
until
good
loop

dlsplay

read
good :

end
end
process
end
end

deferred end N
Sigles
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local b
good: BOOLEAN { Iﬁ”?

,,“‘%

if not good then
message
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test_application: BOOLEAN
local
app: APPLICATION ; current_state: STATE ; index: INTEGER
do
create app.make (6, 3)
app.put_state (create {INITIAL}.make, 1)
—-— Similarly for other 5 states.
app.choose_initial (1)

TATZ

—— Transit to FINAL given current state INITIAL and choice 1.

app.put_transition (6, 1, 1)

—-— Similarly for other 10 transitions.

index := app.initial

current_state := app.states [index]

Result := attached {INITIAL} current_state

check Result end

—— Say user’ spehei@emis, 3: transit m

index := app.transition.item (index, 3)

current_state = app.states [index]

Result := attached {FLIGHT ENQUIRY} current_state
end
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